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 6acB-Lan> el Jios Ll b 3a>, alll oMelad] on oo .1
HCl(g)+ H,0(l) > H,0"(aq)+Cl (aq) .
NH,(g)+ HCI(g) — NH,CI(s) .o
H,50,(1)+ H,0(l) — HSO; (aq)+ H,0" (aq) .
C,H,— NH; (aq)+OH (aq) > C,H, — NH,(aq)+ H,0(]) .&
4HCI(g)+0,(g) > 2Cl,(g)+2H,0(g)
Na"(aq)+ Cl (aqg) — NaCl(s)
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D adWl 6acld -jan> oMelail o JS (9 Lan>/oacld
HSO, (aq)+ H,0(l) = SO; (aq) + H,0" (aq)
HNO,(I)+OH (ag) > NO; (aq)+ H,0(])
CO,,H,0(aq)+OH (aq) - HCO; (aq)+ H,0(I)
H,0"(aq)+CI (aq)+ Na" (aq) + OH (aq) — 2H,0(l)+ Na" (aq) + CI” (aq)




